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Listening and Reading tests 

General principles of marking 

Non-verbal answers 

Follow the mark scheme as set out. 

Verbal answers (English or target language) 
1. The basic principle of assessment is that students should gain credit for what they know, understand 

and can do; provided their written response communicates the required message without ambiguity, it 

will get the mark.  The following guidance should be borne in mind when marking. 

(a) Credit should be given for all answers which convey the key idea required intelligibly and without 

ambiguity.  This applies whether the answer is in English or target language.  A separate assessment 

of spelling, punctuation and grammar is not required because of the nature of the answers. 

However, these aspects are an integral part of assessing communication and marks cannot be 

awarded where errors in spelling, punctuation or grammar lead to a failure to communicate the 

required information without ambiguity. 

(b) Where a student has given alternatives or additional information in an answer, the following criteria 

should be applied: – if the alternative/addition does not contradict the key idea/make it ambiguous, 

accept – if the alternative/addition contradicts the key idea or makes it ambiguous, reject. 

(c) Where numbered lines are given within a question/section of a question, credit should be given for 

correct answers, no matter which line they appear on. 
(d) Where a question has more than one section (eg (i) and (ii)), a candidate may include as part of the 

answer to one section the information required to answer another section, eg, in Listening, information 

required to answer section (ii) might be given as part of the answer to section (i).  In such cases, 

credit should be given for having answered section (ii), provided that no incorrect answer has been 

given for that section in the correct place on the question paper. 

2. In questions where students are asked to give for example a list of three items, only the first three 

items they write down should be considered for assessment purposes. 

3. No mark scheme can cover all possible answers.  When in doubt, look for the key idea. 

4. Where a student has crossed out an answer and what was underneath remains legible then it should 

be marked.  When part of an answer is crossed out, then only what remains should be considered. 

5. .../.. means that these are acceptable alternative answers in the mark scheme.  (.....) means that this 

information is not needed for full marks to be awarded. 

6. The following general principles should be applied in relation to answers in the target language: 

(a) Incorrect personal pronouns – accept (unless this causes ambiguity). 

(b) Incorrect possessive adjectives – accept (unless this causes ambiguity). 

(c) Wrong gender – accept (unless this causes ambiguity). 
(d) Infinitive – will normally communicate without ambiguity, so should be accepted. 

(e) Wrong tense – accept as long as student comprehension is not in question. 

(f)  Minor spelling errors – accept as long as the answer is understandable with no ambiguity.  This 

means that even if the spelling error results in the creation of a word in another language 

including English, then provided it is a recognisable attempt at a spelling in the target language, it will 

be credited. 
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Section A Listening 

Comprehension questions to be answered in target language but with no AO3 marks. 

Where the natural answer to a question consists entirely or partly of words or phrases from the 
recording, students may use that material without rephrasing it. Minor spelling errors which do not distort 
the meaning will be tolerated.  However, the AO1 mark will not be awarded for a response in which the 
student includes irrelevant material or inappropriate information from the stimulus, eg by ‘lifting’ an 
element from the original which does not match the phrasing of the question set. 

Any one of two 
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Qu 
 

Accept 
 

Mark 
 

Notes 

 

 

02.6 
 

pNjab we votrA ¥ jagrUk krke   (1) 

rajnIqk partI]A ¥ cNwa wex vail]A we nA w<s ke (1) 

 

 

2 
 

 

 

One mark for each detail 
 

 

Qu 
 

Accept 
 

Mark 
 

Notes 

 

 

02.5 
 

rajnIqk partI]A v<loM kIqe lok BlazI we kNm / pNjab we 

ivkas lzI paiz]a yogwan . 

 

 

 

1 
 

 

 

Any one of two 

 

Qu 
 

Accept 
 

Mark 
 

Notes 

 

 

02.4 
 

lokA ¥ ruZgar wPqrA rahIM nOkrI]A nA we ke / srkarI 

nOkrI]A we izSiqhar ]KbarA iv<c we ke . 

 

 

 

1 
 

 

Reject: kImqI qohPe jA hor cIZA 

 

 

Qu 
 

Accept 
 

Mark 
 

Notes 

 

 

02.3 
 

beruZgarI ¥ lNbe ]rse qoM wUr nhIM kIqa ig]a BaveM 

(GoSxa p<qrA iv<c) va]we kIqe gze . 

 

 

1 

 

 

Qu 
 

Accept 
 

Mark 
 

Notes 

 

 

02.2 
 

]ariQk laB pRapq krna  (1) 

qakq h<Q iv<c lExa  (1) 

 

 

2 
 

 

 

One mark for each detail 

 

Qu 
 

Accept 
 

Mark 
 

Notes 

 

 

02.1 
 

 

iqNne (rajnIqk) partI]A iz<ko ijhI]A mShUr hn . 

 

 

 

1 
 

]kalI wl jA ikse hor rajnIqk 

partI wa nA 

 

Qu 
 

Accept 
 

Mark 
 

Notes 

 

01 
 

A, C, E, H, K 
 

5 
 

In any order 
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Qu 
 

Accept 
 

Mark 
 

Notes 

 

 

03.5 
 

nveM [uwyog lga ke  (1) 

pNjabI]A ¥ cNgI]A qnKahA we ke  (1) 

 

 

2 
 

 

 

One mark for each detail 
 

 

Qu 
 

Accept 
 

Mark 
 

Notes 

 

 

03.4 
 

kozI pEsa nhIM Xrcxa cahuNwe  (1) 

v<de-vdeir]A wI jaizwaw vecxa cahuNwe hn  (1) 

 

 

2 
 

 

 

One mark for each detail 
 

 

Qu 
 

Accept 
 

Mark 
 

Notes 

 
 

 
03.3 

 

[unHA iv<coM kuJ bahr ja ke nveM pRem sNbNW bxa lEMwe hn . 

(1) 

pNjab iv<c bETe pqI / pqnI ¥ wu<K J<lxa pEMwa hE / izk<le 

hI Gr cla[uxa pEMwa hE .  (1) 

 
 

 
2 

 

 
 

 
One mark for each detail 

 

 

Qu 
 

Accept 
 

Mark 
 

Notes 

 

 

03.2 
 

isrP ]npfH qe bZurg lok ip<Ce rih jaxge . (1) 

]ariQk ivkas ruk javega .  (1) 

 

 

2 
 

 

 

One mark for each detail 
 

 

Qu 
 

Accept 
 

Mark 
 

Notes 

 

 
 

03.1 
 

nvA KUn jA kNm krn wI [umr vale lok bhuq G<t rih 

jaxge . (1) 

krofA ruip]a / bhuq sara Wn ivweSA iv<c ja irha hE .  (1) 

 

 
 

2 
 

 

 

One mark for each detail 
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Summary question 

The marks for content (AO1) and language (AO3) are awarded independently. Long summaries will be 

marked for content (AO1) or language (AO3) only as far as the first natural break (usually the end of a 

sentence or main clause) between 90 and 100 words.  Short summaries are not subject to an automatic 

penalty but in practice are unlikely to include all the required content points and will therefore be self- 

penalising. 

The AO1 mark is awarded for content points which contain the required information, regardless of 

whether those points are expressed in the student’s own words, or are partly or wholly lifted from the 

recording.  However, no AO1 mark will be awarded for a content point where the student includes 

irrelevant material or copies inappropriately from the stimulus, eg by ‘lifting’ an element from the original 

which does not match the phrasing of the bullet point.*  ‘Lifted’ language will not be eligible for credit 

when the AO3 mark is awarded. 
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Qu 04 
 

Key idea 
 

Mark 
 

Notes 

 

 
 
 
 

Bullet 1 
 

 

puraxe smeM iv<c b<ce v<id]A wa bhuq siqkar krwe sn . 

]iW]apk sB qoM iZ]awa siqkaryog hsqI mNin]a 

jAwa sI . 

]iW]apkA ¥ maip]A we brabr smiJ]a jAwa sI . 

 

 

 
 
 
 

3 
 

 

 
 
 
 

One mark for each detail 
 

 
 
 
 
 

 
Bullet 2 

 

Gr wa guZara cla[ux lzI woveM maip]A ¥ kNm krna 

pEMwa hE . 
 

maip]A kol b<ic]A ¥ sihxSIlqa ]qe ]awr krna 

isKa[ux lzI smA nhIM hE . 
 

is<iK]a pRxalI iv<c qbwIlI 
 

Kuw hI is<Kx vale yNqrA wI kaD 

 
 
 
 
 

 
2 

 

 
 
 

 
Any two details 

 

One mark for each detail 
 

 
 
 
 
 

Bullet 3 
 

 

maip]A ¥ ]apxe b<ic]A nal iZ]awa smA ibqa[uxa 

cahIwa hE . 
 

maip]A ¥ ]apxe b<ic]A ¥ isKa[uxa cahIwa hE ik 

ikveM wUsir]A nal sihxSIlqa, inmrqa ]qe 

siqkar nal peS ]a[uxa hE . 

 
 
 
 
 

2 
 

 
 
 
 

Any two details 
 

One mark for each detail 
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*Generic example of ‘lifted’ language: 

1 

Text includes  Having finished her studies, she became a doctor. 

Summary task includes the bullet point  What she did before becoming a doctor 

Correct answer is  She studied 

Student writes in response to that bullet point Having finished her studies, she became a doctor 

No credit for AO1 because the response does not match the phrasing of the bullet point. (Also no credit 

for AO3 because of lifting.) 

2 

Text includes … because computers will replace teachers 

Summary task includes the bullet point Technological changes anticipated 

Correct answer is Computers will replace teachers or, to demonstrate successful manipulation, Teachers 

will be replaced by computers 
Student writes in response to that bullet point because computers will replace teachers 

No credit for AO1 because the response does not match the phrasing of the bullet point. (Also no credit 

for AO3 because of lifting). 

Minor errors are defined as those which do not affect communication. 

Serious errors are defined as those which adversely affect communication. 

Minor errors include: 

incorrect but close to correct spellings 

incorrect singular/plural agreement. 

Serious errors include: 

incorrect verb forms 

incorrect use of pronouns 
missing or incorrect agreements of gender and adjectives. 

Complex language includes: 

use of pronouns of all types 

tenses that support conceptual complexity 

connectives supporting a range of subordinate clauses including those requiring subjunctive 

constructions with verbs and verbs followed by infinitive with correct preposition 

use of present and past participles. 
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Indicative content 

Summary 1: 90 words – AO3 5/5 

puraxe smeM iv<c b<ce ]apxe qoM v<id]A wa bhuq siqkar krwe sn . ]iW]apk ¥ sair]A qoM v<W ]awryog 

iv]kqI mNin]A jAwa sI ]qe ]iW]apk ¥ b<ce ]apxe maip]A we brabr hI smJwe sn . ]<j-k<lH Gr wa 

guZara cla[ux lzI woveM maip]A ¥ kNm krna pEMwa hE . izs krke maip]A kol ]apxe b<ic]A ¥ SihxSIlqa 

]qe ]awr krna isKa[ux wa smA nhIM huNwa . ]<j we smeM wI lof hE ik mape ]apxe b<ic]A nal v<W qoM v<W smA 

ibqa[ux ]qe [unHA ¥ wUij]A nal sihxSIlqa, inmrqa ]qe siqkar nal peS ]a[uxa isKa[ux . 

Summary 2: 90 words – AO3 4/5 

puraxe smeM iv<c b<ce ]apxe naloM v<id]A wa bhuq ]awr max krwe sI . ]iW]apk ¥ sair]A qoM v<W ]awryog 

iv]kqI mNin]A jAwa ]qe ]iW]apk ¥ b<ce ]apxe maip]A we brabr hI smJwe sI . ]<j-k<lH Gr wa guZara 

cla[ux lzI woveM maip]A ¥ kNm krna pEMwa . izs krke maip]A kol ]apxe b<ic]A ¥ SihxSIlqa ]qe ]awr 

krna sKOx wa smA nhIM huNwa . ]<j we smeM iv<c maip]A ¥ ]apxe b<ic]A nal v<W qoM v<W smA ibqa[uxa cahIwa 

hE ]qe [unHA ¥ sihxSIlqa, inmrqa ]qe siqkar krna isKa[uxa ZrUrI hE . 
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Mark 
 

AO3 quality of language marks in listening and reading summary tasks 

 
 

5 
 

 

The language produced is mainly accurate with only occasional minor errors.  The student 

shows a consistently secure grasp of grammar and is able to manipulate complex language 

accurately where required by the task. 

 
 

4 
 

 

The language produced is generally accurate, but there are some minor errors.  The student 

shows a generally good grasp of grammar and is often able to manipulate complex language 

accurately where required by the task. 

 
 

3 
 

 

The language produced is reasonably accurate, but there are a few serious errors.  The 

student shows a reasonable grasp of grammar and is sometimes able to manipulate complex 

language accurately where required by the task. 

 
 

2 
 

 

The language produced contains many errors.  The student shows some grasp of grammar 

and is occasionally able to manipulate complex language accurately where required by the 

task. 

 
 

1 
 

 

The language produced contains many errors of a basic nature.  The student shows little 

grasp of grammar and is rarely able to manipulate complex language accurately where 

required by the task. 

 

0 
 

The student produces nothing worthy of credit. 
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Summary 3: 90 words – AO3 3/5 

puraxe smeM iv<c b<ce ]apxe naloM v<de]A wa bhuq ]awr max krwe . ]iW]apk ¥ sB qoM vW ]awryog bNwa 

mNnwe hunwe . ]iW]apk ¥ b<ce ]apxe maip]A we vNgU hI smJwe hA . hux Gr wa guZara cla[ux lzI wome 

maip]A ¥ kNm krna pExa hE . izs krke ma pe kol ]apxe b<ic]A ¥ SihnSIlqa ]qe ]awr krna isKax wa 

ivhl nhIM . ]<j we smeM iv<c maip]A ¥ ]apxe b<ic]A nal jawa qoM jawa smA bqa[uxa cahIwa hE ]qe [unA ¥ 

sihnSIlqa, inmrta ]qe ]awr krna sKOxa ZriUr ho jAwa hunwa . 

Summary 4: 90 words – AO3 2/5 

purane smeM iv<c b<ce v<de]a wa bhuq ]awr krwe . ]iW]apk ¥ sB qoM vd zIjq iwNwe hunwe . ]iW]apk ¥ b<ce 

]apne maip]A wI trA hI smJwe hunwe ha . hux kr wa gujara clOn liz wono mape]A ¥ kNm krna pEnwa ha . 

]Es liz ma pe kol ]apne b<ce]A ¥ ShnSIlqa ]qe zIjq krna sKaln wa vehl nhIM hunwa ha . hun mape]A 

¥ ]apxe b<ce]A nal jaywa qoM jaywa smA bqOna cahIwa ha ]qe [unA ¥ ShnSIlqa, inmrta ]qe zIjq 

krna sKOna ZriUr ho jAwa ha . 

Summary 5: 90 words – AO3 1/5 

purane smeM iv<c b<ce krwe v<de]a wa ]awr bhut . sB qoM vd zIjq iwNwe hunwe ]iW]apk ¥ . b<ce ]apne maip]A 

wI trA ]iW]apk ¥ smJwe hunwe ha . kr wa gujara clOn liz hux wono mape]A ¥ krna kNm pEnwa ha . ]Es 

liz vehl nhIM hunwa ha ma pe kol ShnSIlqa ]qe zIjq krna sKaln wa ]apne b<ce]A ¥ . hun jaywa qoM 

jaywa smA bqana mape]A ¥ ]apxe b<ce]A nal cahiwa ha ]qe [unA ¥ sKana ShnSIlqa, inmrta ]qe zIjq 

krna ho jAwa ha ZriUr . 
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Section B 

Question 5  Translation (into target language) 

Guidance on level of accuracy in translations into the target language 

Errors of spelling 

Errors of spelling will not be tolerated. 

Verb endings and verb forms must be correct. 

Alternative answers 
Alternative answers offered by the candidate – even if one is in brackets – will be rejected unless both 
answers are correct. 

A successful translation 
A successful translation is one which includes each element of the text to be translated and where there 
is no omission or paraphrase. 

Repeated errors 
Where a candidate repeats the same error within a question, no further penalty will be imposed in 
awarding the mark. 

one tick per correct section then use the conversion grid to award a total of 10 marks. 
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Qu 
 

 
5 

 

 

The table below shows the type of answer that is acceptable for each section of the text.  Award 
 

 

Box 
  

Accept 
 

Reject 

 

1 
 

of social media soSl mIdI]a we 
 

 

2 
 

the ill effects mNwe pRBav 

 

ibmar 

 

3 
 

To avoid qoM bcx lzI 

 

 

b<cx 

 

4 
 

only use it izs wI vrqoM kevl / isrP 
 

 

5 
 

for a limited time. sIimq smeM lzI kro . 

 

ijNnA icr mrZI 

 

6 
 

That is, set a time limit Bav, smA inrWarq kro 
 

 

7 
 

to be active on social media soSl mIdIze qe srgrm hox wa 
 

 

8 
 

and spend the rest of the time ]qe bakI wa smA 

 

sara smA 

 

9 
 

with your family ]apxe pirvar 
 

 

10 
 

and friends. ]qe im<qrA / shelI]A nal ibqa[u . 
 

 

 

 



MARK SCHEME – A-LEVEL PANJABI – 7682/3 – JUNE 2021 

11 

 

11 
 

Avoid activities [unHA ikir]avA qoM bco 
 

 

12 
 

that are not related to you; jo qhade nal sNbNiWq na hox; 

 

quhade nal sNbNiWq hox 

 

13 
 

only do or watch kevl [uhI kuJ kro jA veKo 
 

 

14 
 

what is relevant. jo quhade nal sNbNW r<Kwa hove . 
 

 

15 
 

yourself, ]apxe, 
 

 

16 
 

your family ]apxe pirvar 
 

 

17 
 

and your business. ]qe ]apxe karobar . 
 

 

 

18 
 

 

Attempt to share minimum 
information about 

bare G<t qoM G<t jaxkarI sAJI krn wI 

koiSS kro 

 

 

19 
 

circulating on social media. soSl mIdIze qe [u>dwI]A hozI]A . 
 

 

20 
 

Ignore rumours ]PvahA ¥ nZr-]NwaZ kro . 

 

KbrA 

 

21 
 

If you are uncertain je quha¥ ikse g<l bare 
 

 

22 
 

about anything, p<ka ykIn nhIM, 
 

 

23 
 

don’t pass it on to others. wUsir]A ¥ na Bejo . 
 

 

24 
 

Sometimes a lot of kwe kwe bhuq sarI]A 
 

 

25 
 

false news is also spread JUTI]A KbrA vI PElazI]A jAwI]A hn 
 

 

26 
 

to mislead people. lokA ¥ gumrah krn lzI . 
 

 

27 
 

on social media most soSl mIdI]A qe ]iWkqm 
 

 

28 
 

facts q<QA wI 
 

 

29 
 

have not been scientifically ivig]ank qOr qe 
 

 

30 
 

verified. CaxbIx nhIM kIqI huNwI . 
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Conversion grid 

 

Number of ticks 
 

Mark 

 

28–30 
 

10 

 

25–27 
 

9 

 

22–24 
 

8 

 

19–21 
 

7 

 

16–18 
 

6 

 

13–15 
 

5 

 

10–12 
 

4 

 

7–9 
 

3 

 

4–6 
 

2 

 

1–3 
 

1 

 

0 
 

0 
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Section C 

Multi-skill task Question 6 

Assessment objectives 1, 2 and 3 

Level of response marking instructions 

Level of response mark schemes are broken down into levels, each of which has a descriptor.  The 

descriptor for the level shows the average performance for the level.  There are marks in each level. 

Before you apply the mark scheme to a student’s answer read through the answer and annotate it (as 

instructed) to show the qualities that are being looked for.  You can then apply the mark scheme. 

Step 1 Determine a level 

Start at the lowest level of the mark scheme and use it as a ladder to see whether the answer 

meets the descriptor for that level.  The descriptor for the level indicates the different qualities that might 

be seen in the student’s answer for that level.  If it meets the lowest level then go to the next one and 

decide if it meets this level, and so on, until you have a match between the level descriptor and the 

answer.  With practice and familiarity you will find that for better answers you will be able to quickly skip 

through the lower levels of the mark scheme. 

When assigning a level you should look at the overall quality of the answer and not look to pick holes in 

small and specific parts of the answer where the student has not performed quite as well as the rest.  If 

the answer covers different aspects of different levels of the mark scheme you should use a best fit 

approach for defining the level and then use the variability of the response to help decide the mark within 

the level, ie if the response is predominantly level 3 with a small amount of level 4 material it would be 

placed in level 3 but be awarded a mark near the top of the level because of the level 4 content. 

Step 2 Determine a mark 

Once you have assigned a level you need to decide on the mark.  The descriptors on how to allocate 

marks can help with this.  The exemplar materials used during standardisation will help.  There will be an 

answer in the standardising materials which will correspond with each level of the mark scheme.  This 

answer will have been awarded a mark by the Lead Examiner.  You can compare the student’s answer 

with the example to determine if it is the same standard, better or worse than the example.  You can then 

use this to allocate a mark for the answer based on the Lead Examiner’s mark on the example. 

You may well need to read back through the answer as you apply the mark scheme to clarify points and 

assure yourself that the level and the mark are appropriate. 

Indicative content in the mark scheme is provided as a guide for examiners.  It is not intended to be 

exhaustive and you must credit other valid points.  Students do not have to cover all of the points 

mentioned in the Indicative content to reach the highest level of the mark scheme. 

An answer which contains nothing of relevance to the question must be awarded no marks. 
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Assessment criteria 

Each assessment objective should be assessed independently. 

Students are advised to write approximately 200 words per essay.  Everything that students write must 

be assessed; there is no word limit.  Students writing the recommended length have access to the full 

range of marks. 

Assessment Objective 1 

understood.  Arguments/views are very effectively summarised and there 

clearly understood.  Arguments/views are effectively summarised and 

understood.  There is some evidence of summarising arguments/views 

understood.  There is limited evidence of summarising arguments/views 

has been understood.  There is rarely evidence of summarising 

14 

 

Mark 
 

AO1 

 

 
 

9–10 
 

 

Very good evaluation of the source 

The relevant information from the spoken source material has been fully 

 
is extensive evidence of drawing appropriate conclusions. 

 

 
 

7–8 
 

 

Good evaluation of the source 

Most of the relevant information in the spoken source material has been 

 
there is frequent evidence of drawing appropriate conclusions. 

 

 
 

5–6 
 

 

Reasonable evaluation of the source 

Some of the relevant information in the spoken source material has been 

 
and of drawing appropriate conclusions. 

 

 
 

3–4 
 

 

Limited evaluation of the source 

A limited amount of relevant information in the spoken source has been 

 
and of drawing appropriate conclusions. 

 

 
 

1–2 
 

 

Very limited evaluation of the source 

A very limited amount of the relevant information in the spoken source 

 
arguments/views and of drawing appropriate conclusions. 

 

0 
 

The student produces nothing worthy of credit. 
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Assessment Objective 2 

understood.  Arguments/views are very effectively summarised and there 

clearly understood.  Arguments/views are effectively summarised and 

understood.  There is some evidence of summarising arguments/views 

understood.  There is limited evidence of summarising arguments/views 

been understood. There is rarely evidence of summarising 
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Mark 
 

AO2 

 

 
 

9–10 
 

 

Very good evaluation of the source 

The relevant information from the written source material has been fully 

 
is extensive evidence of drawing appropriate conclusions. 

 

 
 

7–8 
 

 

Good evaluation of the source 

Most of the relevant information in the written source material has been 

 
there is frequent evidence of drawing appropriate conclusions. 

 

 
 

5–6 
 

 

Reasonable evaluation of the source 

Some of the relevant information in the written source material has been 

 
and of drawing appropriate conclusions. 

 

 
 

3–4 
 

 

Limited evaluation of the source 

A limited amount of relevant information in the written source has been 

 
and of drawing appropriate conclusions. 

 

 
 

1–2 
 

 

Very limited evaluation of the source 

A very limited amount of the relevant information in the written source has 

 
arguments/views and of drawing appropriate conclusions. 

 

0 
 

The student produces nothing worthy of credit. 
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Assessment Objective 3 

complex language accurately.  The student uses a wide range of vocabulary 

accurately.  The student uses a good range of vocabulary appropriate to the context and the 

language accurately.  The student uses a reasonable range of vocabulary appropriate to the 

Minor errors are defined as those which do not affect communication. 

Serious errors are defined as those which adversely affect communication. 

Minor errors include: 

•  incorrect but close to correct spellings 

•  incorrect singular/plural agreement. 

Serious errors include: 

•  incorrect verb forms 

•  incorrect use of pronouns 

•  missing or incorrect agreements of gender and adjectives. 

Complex language includes: 

•  use of pronouns of all types 

•  tenses that support conceptual complexity 
•  connectives supporting a range of subordinate clauses including those requiring subjunctive 

constructions with verbs and verbs followed by infinitive with correct preposition 

•  use of present and past participles. 
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AO3 

 

 
 

9–10 
 

 

The language produced is mainly accurate with only occasional minor errors.  The 

student shows a consistently secure grasp of grammar and is able to manipulate 

 
appropriate to the context and the task. 

 

 
 

7–8 
 

 

The language produced is generally accurate, but there are some minor errors.  The student 

shows a generally good grasp of grammar and is often able to manipulate complex language 

 
task. 

 

 
 

5–6 
 

 

The language produced is reasonably accurate, but there are a few serious errors.  The 

student shows a reasonable grasp of grammar and is sometimes able to manipulate complex 

 
context and the task. 

 
 

3–4 
 

 

The language produced contains many errors.  The student shows some grasp of grammar 

and is occasionally able to manipulate complex language accurately.  The student uses a 

limited range of vocabulary appropriate to the context and the task. 

 
 

1–2 
 

 

The language produced contains many errors of a basic nature.  The student shows little 

grasp of grammar and is rarely able to manipulate complex language accurately.  The 

student uses a very limited range of vocabulary appropriate to the context and the task. 

 

0 
 

The student produces nothing worthy of credit. 

 

 

 



MARK SCHEME – A-LEVEL PANJABI – 7682/3 – JUNE 2021 

Indicative content multi-skill task essay 

• 

• 

• 

• 

• 

• 

• 

• 

• 

• 

Impact of television on health. (AO1) 

Responsible for wastage of lots of time. (AO1) 

People socialise less due to watching television. (AO1) 

Responsible for encouraging antisocial behaviour among youths. (AO1) 

Responsible for degrading social moral values. (AO1) 
A main source of entertainment these days. (AO2) 

A reasonable price/cheap source of entertainment. (AO2) 

A good source of education and information. (AO2) 

A big source of income for new trade/small screen actors. (AO2) 

It plays a vital role in shaping a better society. (AO2) 
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